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1. Find the general solution of

s
X

0 =L +y. ' S (15%)

2. Solve the nonhomogeneous equation

x>y~ 3x2y" + 6xy" — 6y =x*Inx forx > 0. (15%)

3. Solve the nitial value problem

Y 42y +2y = 8(1-3) ; (0) = (0) = 0. (15%

o | | i T
4. Compute both side of the conclusion of Stokes's theorem for F = Yi +zj +xk and

the surface z = 1 — (xzi +y%),z20 . (20%)

5. Expand f(x) = x, 0 < x < 2 in a half range (a) sine series, (b) cosine series. (15%)

6. Solve the boundary value problem

2 ' |
%—}:2%:-’5 (U <x<3),

u(0,9) =10, u(3,7) =40, (> 0), .
u(x,0) =25 (0 <x<3). (20%) '



